Maximalni pocet bodu: 12, Zaci se SPU: 10

TRIDA 6.A .
—— HODNOCENI

BODY POCET ZAKU
12 1 12 bodt 1
11 2 11 bodd 1
10 6 10 bodt 2
9 2 9 bodu 2
8 1 8 bodl 3
7 0 7 bodi 3
6 1 6 bod 3
Zaci se SPU ,
= HODNOCENI

BODY POCET ZAKU
10 1 10 bodt 1
7 1 7 bodd 2
6 1 6 bodl 3

Maximalni pocet bodu: 12, Zaci se SPU: 10

TRIDA 6.B

T HODNOCEN(

BODY POCET ZAKU
12 1 12 bodi 1
11 2 11 bodii 1
10 3 10 bodi 2
9 3 9 bodd 2
8 1 8 bodd 3
7 2 7 bodd 3
1 2 1 bod 5
Z4ci se SPU .
— HODNOCENI

BODY POCET ZAKU
7 1 7boda | 2

Maximalni pocet bodu: 12, Zaci se SPU: 10

TRIDA 7.A ,
— HODNOCENI

BODY POCET ZAKU
12 0 12 bodd 1
11 5 11 bodd 1
10 1 10 bodd 2
9 7 9 bodd 2
8 5 8 bodd 3
7 2 7 bod 3
6 2 6 bodG 3
Zaci se SPU ,
— HODNOCENI

BODY POCET ZAKU
9 1 9 bodd 1

6 1 6 bodG




Maximalni pocet bodu: 12, Zaci se SPU: 10

TRIDA 8.A ’
== HODNOCENI

BODY POCET ZAKU
12 0 12 bodl 1
11 0 11 bodl 1
10 2 10 bodl 2
9 4 9 bodl 2
8 3 8 bodl 3
7 2 7 bodl 3
6 1 6 bodU 3
5 1 5 bod 4
Zaci se SPU .
== HODNOCENI

BODY POCET ZAKU
7 1 7 bodl 2
6 1 6 bodu 3
5 1 5 bodl 3
3 1 3 body 4

Maximalni pocet bodu: 12, Zaci se SPU: 10

TRIDA 8.B )
= HODNOCENI

BODY POCET ZAKU
12 0 12 bodt 1
11 3 11 bodd 1
10 2 10 bodt 2
9 5 9 bodl 2
8 3 8 bodl 3
7 2 7 bodd 3
Zaci se SPU .
—— HODNOCENI

BODY POCET ZAKU
9 1 9 bodt 1
8 2 8 bodu 2




